
 

 

Answer on Question #72127 - Math - Geometry 

 

Question 72127: 

Two points 𝐷 and 𝐸 are taken inside the triangle ABC such as ∠ 𝐴𝐵𝐷 = ∠ 𝐸𝐵𝐶. 
From the point 𝐷 two perpendicular lines 𝐷𝐹 and 𝐷𝐺 are drawn to 𝐴𝐵 and 𝐵𝐶 respectively. 
From the point 𝐸 two perpendicular lines 𝐸𝐻 and 𝐸𝐼 are drawn to 𝐴𝐵 and 𝐵𝐶 respectively. 
𝐷𝐹 = 7, 𝐷𝐺 = 8, 𝐸𝐼 = 15, 𝐸𝐻 = ? 

 

Answer: 

Let 𝐸′ be a point on the line 𝐵𝐷 with perpendicular lines 𝐸′𝐻′ and 𝐸′𝐼′  drawn to 𝐴𝐵 and 𝐵𝐶 
respectively, such that: 

𝐸′𝐻′ = 𝐸𝐼 and 𝐸′𝐼′ = 𝐸𝐻 

The second equality results from the facts that ∆ 𝐸′𝐻′𝐵 = ∆ 𝐸𝐼𝐵 and ∆ 𝐸′𝐼′𝐵 = ∆ 𝐸𝐻𝐵. 

Since ∆ 𝐸′𝐻′𝐵 ≈ ∆ 𝐷𝐹𝐵  and ∆ 𝐸′𝐼′𝐵 ≈ ∆ 𝐷𝐺𝐵 , we have that: 

𝐸𝐻 = 𝐸′𝐼′ = 𝐷𝐺 ∙ 𝐸′𝐻′ 𝐷𝐹⁄ = 𝐷𝐺 ∙ 𝐸𝐼 𝐷𝐹⁄ = 8 ∙ 15 7 =⁄ 17.14. 

 

Answer: 

𝐸𝐻 = 17.14. 


